TEHIICE T2 EDHRSREDAERR (BE1E)

ER27FE1088IE S

JAlE 8 I 7E B P #YE (u Sv/h)
FRTORS _ 007
18 ZYDLE
1% 30F 0.07
e FHIOBF Eh 0.07
1% 30F 0.06
30 FHIOBF Eh 0.08
1% 30F 0.07
48 FHIOBF 2y 0.06
F1438 = 0.06
55 FHIOBF 2y 0.08
F %30 = 0.09
. FHIORS . 0.07
1% 30% 0.07
5 RO Eh 0.07
1230 0.07
8 FHIOBF Eh 0.07
F 430 0.06
o THIOK: Eh 0.07
F %30 0.07
on FRTOR: iy 0.06
F 430 = 0.06
P, 0.07
11H il ROLEY
F %30 0.07
- RO o 0.07
F %30 0.07
- RO o 0.07
F %30 0.07
. RO o 0.07
F %30 0.07
- RO o 0.08
F %30 0.06




TEHIICE T2 EDHRSREDAERR (BE1E)

ER27FE1088IE S

AEH A 7E B Rz B (1 Sv/h)
FRIOKF 0.06
16H 58]
F£30F 0.07
FRIORF 0.06
17H peyrp—s ROLEY 006
% 3K :
FRIORF 0.07
18H peyrp—s fFh 006
% 3K :
FRIORF 0.07
198 F£30F i 0.07
1 S .
FRIORF 0.06
208 TR 30 " 0.07
% 3K :
FRIORF - 0.08
218 F1&3FF = 0.09
1: S .
FRIORF 0.06
225 TR 30 " 0.06
% 3K :
FRIORF - 0.07
238 F1&3FF = 0.07
1: S .
FHIORF 0.08
248 F1&3FF wh 0.08
1: S .
FHIORF 0.07
208 F1&3FF wh 0.06
1: S .
FHIORF 0.07
2en F % 3B . 0.07
1: S .
FHIOKF 0.07
i F%3F i 0.07
&3k :
FHTORE _ 0.06
2en F % 3B =7 0.08
&3k :
FHTORE _ 0.07
298 F % 3B =7 0.07
&3k :
FHTORE _ 0.06
208 F 438 =Y 0.06
&3k :
FRTORE _ 0.08
31H =Y
F&3EF 0.08




